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1 What is the formula of the lateral surface area of a cylinder with radius » and height A?

r B @R h SO 9 da % WsdiT gde e w1 g 9T 2 Y
(A) 2mrh (B) nr2h

(©) 2’ (D) mrh
(E) Question not attempted / T e

2 How do you calculate the area of an irregular surface?
(A) By dividing it into regular shapes and summing their areas
(B) By using the perimeter only
(C) By measuring the longest side and multiplying by 2
(D) By approximating it to the nearest circle
(E) Question not attempted
Il qdE & &Ed B e ¢
(A) |9 S F Fieht BT o &=rhd SSHt
(B) had YA & IYFNT &

(C) @ " ) 4T &l AHT 3d 2 F IO Hlh
(D) we " &€ g9 & Gfwed 9

(E) oraia wed

3 If a material has a high Young’s Modulus, what does it indicate?
(A) The material is very stiff (B) The material is very elastic
(C) The material is very ductile (D) The material is very brittle

(E) Question not attempted
R fopelt wrnlt @1 wea o AR ¥, o 9% o qgrtar ¥ 7

(A) @il 9ga ®E ¥ (B) @l aga weny ¥
(C) urlt 9gd a1 & (D) @Rl 9ga 97X @
(E) eorgafta e

4 The Council of Ministers of a state are collectively responsible to -
(A) Chief Minister (B) Governor
(C) State Legislative Assembly (D) President

(E) Question not attempted

T @ HEUYg arfed ®Y § ITEHEN Bl & -

(A) FEws & Ui (B) o9ute & "fd
(C) =g fqumEHr & ufg (D) <rzufy % wfa
(E) organa ws
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5 Which of the following Articles of Constitution of India authorises municipalities to levy, collect
and investment appropriate taxes. duties, tolls and fees?

(A) Article 243W (B) Article 243X

(C) Article 243Y (D) Article 2437

(E) Question not attempted

frafofen & @ wra & w9 & BF-ar agess TRufawe B Sfad HT, o6, T8 B AT HiE
SgEE, "Uea of fafaifia & % fog wiftiea #ear 37

(A) egeE 243W (B) agese 243X
(C) &g 243Y (D) @&gess 2437
(E) organia wed

6  Which of the following subjects belong to twelfth schedule of the Constitution?
(Choose the most appropriate option from below)
(A) Animal husbandry, dairying and poultry
(B) Women and child development
(C) Slum improvement and upgradation
(D) Public distribution system
(E) Question not attempted
f & & @1 foo dfqam @ 1241 srgger | |efta 87 (Fra o @ a8 Sug fawea 99)
(A) 9gUEd, T FE R Fage—amwd
(B) #fen oft wr faewr
(C) Tier-a& A & Hi=1a
(D) @i feeRer gome
(E) oTgana usd

T In reference of Rajasthan Guaranteed Delivery of Public Service Act 2011, read the following
statements and choose the correct answer :

1.  No fee shall be payable along with memo of first appeal and second appeal.

2. In computing the stipulated time limit, public holidays shall not be counted.

(A) Only 1 is correct. (B) Only 2 is correct.

(C) Both 1 and 2 are wrong. (D) Both 1 and 2 are correct.

(E) Question not attempted

TSI Wb FaT YA &1 =T aiffram 2011, % dad § frafafaa sed & 1 ofit @é oax g -
1. wow ondia oY fadig ondie & STU & @19 @15 S 39 7l &rm|

2. fruifa wg @ ® qrdwte smawier @ AT T8 @ S

(A) Haw 1 @@ (B) Fad 2 & |
(C) 1 3T 2 3Ff Toa & (D) 1 &% 2 3 @& ¥l
(E) organa wed
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8 If a rectangle has a length of 8 cm and a width of 5 cm, what is its area in square centimetres?
g fel omard @1 @as 8 W ofT dies S5 W E, @ o Gl W SEAT Emd &y 2 ?
(A) 13 (B) 35
(C) 40 (D) 80
(E) Question not attempted / aaﬁ?ca EER

9  What is the value of ~+—— ?
510

3 1

=+— 1AM FT B¢
5 10
7 8
A) — B) —
(A) T (B) T
3 1

C) — D) —
(©) T (D) T
(E) Question not attempted / STaftd Us

10 What is the value of /300 to the nearest integer?
J300 @ wEE @€ ol e @ e ?
(A) 15 B) 17
(C) 18 (D) 20
(E) Question not attempted / SFANE T

11 What is the formula for calculating profit?
(A) Selling Price — Cost Price (B) Cost Price — Selling Price
(C) Selling Price x Cost Price (D) Selling Price + Cost Price
(E) Question not attempted
TTH BT G T E 7
(A) o qea — @ra g (B) @rm qed — fawbd qw
(C) fama g1 x @FE T (D) fewpa qea + @I oA

(E) organa ued

12 If the cost price of an item is ¥ 50 and it is sold for I 70, what is the profit percentage?
i fpdl axg @l @ &ea X 50 F 8iR s qwa T 70 &, @ @ T wiast & Em ?
(A) 10% (B) 20%
(C) 30% (D) 40%
(E) Question not attempted / SR 9s
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13 A shopkeeper sells an item for ¥ 900, making a profit of 20%. What is the cost price of the item?
T FHEAER iz a5y < 900 ¥ s=dht 20% @1 @19 HAGT ¢ | 39 a% H AFG Hed @91 B 7
(A) 720 (B) T 750
(C) T 800 (D) T 850
(E) Question not attempted / saNa e

14  What is the least common multiple (LCM) of 6 and 8?
6 X 8 w1 wyay Evea® (LCM) @#r 27
(A) 12 (B) 16
(C) 24 (D) 48
(E) Question not attempted / TANa T

15  Which of the following fraction is equivalent to %?

Eﬁﬁaﬁwam%asw%?
) = ®)

6
©) Ty (D)

(E) Question not attempted / SR 95T

|y on|w

16 What is 0.75 expressed as a fraction in simplest form?

0.75 @1 aisT § WeiGd AW F41 &7

3 3
A 3 B) <
3 4
© 3 D) -
(E) Question not attempted / AR UsT
17 What is i(} as a decimal?
% T TIHAS T T & 7
(A) 0.07 (B)y 0.7
(C) 0.75 (D) 7.0

(E) Question not attempted / safd wed
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18

19

20

21

Which one of the following is a solution for saline and alkaline in soil?

(A) Urea (B) Gypsum
(C) Potash (D) Rock Phosphate
(E) Question not attempted

= & 9 B-ar gar ¥ wavigar Td ardgar &1 geree &7

GV el (B) forem
(C) drerer (D) & HIEHE
(E) orgaia wed

The districts in Rajasthan where the Chhappan Plain is expanded in, are -

GET IT ON
Google Play

(A) Udaipur, Banswara, Chittorgarh (B) Udaipur, Banswara, Dungarpur

(C) Banswara, Dungarpur, Chittorgarh (D) Udaipur, Dungarpur, Rajsamand

(E) Question not attempted
oY & T, Sel v & dae e ¥, 9 ¥ -

(A) STgy, Sigars), faedsTe (B) TEAYY, SIHART, FRYX
(C) wfwearsT, $yT, fercirsme (D) AT, $YY, TR
(E) ergafa wed

Which river is not included in inland drainage system?

(A) Kantali (B) Sabi

(C) Sukai (D) Kakni

(E) Question not attempted
FT: SETE i & - T ahaf E § 7

(A) Hide (B) @&t
(C) g=s (D) @&
(E) oraia wed

In which one of the following districts of Rajasthan, temperature may be recorded 50°C or more

in June? (Choose the most appropriate option from below)
(A) Banswara (B) Udaipur
(C) Dungarpur (D) Churu
(E) Question not attempted

T & e § § e e § 99 A § 50° Sfcamd o et araes oSt fpar S @ ¥ 7

(fr=r & & gee suge fawe gv)

(A) sigarsT (B) 3=gx
(C) FY D) g&
(E) ergafa ued
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22 The Indira Gandhi Canal originates from -

(A) Harike Bairaj (B) Beas Kund
(C) Govind Sagar (D) Renuka Lake
(E) Question not attempted

e e TeY @& STm WA -

(A) @ = (B) =& s

(C) Tifd & (D) Yo i

(E) oraia wed

23 According to the Prashasnik Prativedan 2023-24 by the Department of Forest, Rajasthan, the
approximate total recorded forest as percentage of the total geographical area of the state, is
reported as .

g9 faum, TSRAM & ST geEte whided 2023-24 % SR U9 & FA W AA%d Bl
ferera 9T erfeifad v &= & w9 & o fear mar ¥

(A) 9.1 (B) 9.6

) 9.9 D) 102

(E) Question not attempted / SaRd ¥s

24  Simple Interest is calculated on:
(A) Only the principal amount
(B) Only the interest amount
(C) Both the principal amount and the interest amount
(D) None of these
(E) Question not attempted
QI & &I TET &) Sl
(A) FHad qAgT W
(B) %ad &N qed T
(C) ¥@ua X &9 god &l U
(D) 3z & Hig T
(E) ogafa we

25  What is the difference between Simple Interest and Compound Interest for a principal amount
of ¥ 2.000, at an interest rate of 5% per annum, compounded annually for 2 years?

gfe q@ea X 2,000, &1 & 5% whay @R @99 2 99 & (U e (Sehghs) ST fear S g,
qr | ST SR gwhghs @ ST @ e e

(A) T2 B) T5

(C) T8 (D) %10

(E) Question not attempted / SgafRd us
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26

27

28

29

What is the value of x in 2¥=16?
2X=16 ¥ x & 99 41 7

(A)
©)
(E)

2 (B) 3
+ (D) 5
Question not attempted / SANT U

GET IT ON
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If a square has an area of 64 square units, what is the approximate length of its diagonal?

(A)
(©)

(E)

Tfy fpdt ot &1 &5%d 64 o BT B, O €D [GHU B @EE HT b1 SN 7

(A)
©)
(E)

8 units (B)
12 units (D)
Question not attempted

8 3T (B)
12 318 (D)
CAIECIER]

If the lengths of the two shorter sides of a right-angled triangle are 3 units and 5 units, what is
the length of the hypotenuse?

(A)
(©)
(E)

5.8 units (B) 6.8 units
7.8 units (D) 8.8 units
Question not attempted

iy THeoT BT &l &1 BIdT gorei &1 9 HH: 3 3R AT S5 THE ¢, A SHEk HU B @QTS T Ty ?

(A)
©)
(E)

5.8 z@rE (B) 68 31
7.8 518 (D) 8.8 3
Faia e

Pythagorean theorem is used for?

(A)
(B)
(©)
(D)
(E)

Calculating areas of triangles
Determining the sum of angles in a triangle

Finding the lengths of sides in a right triangle

None of these
Question not attempted

URUTIE 99T & 399N fRar S &

(A)
(B)
©)
D)
(E)

fryst &1 & e & fog

fBryst & o @1 g Free % g

TR B B qonen B @A e & e
T ¥ BIE T

TR WA
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30 Which of the following are reasons for desertification in Rajasthan?

1.  Climate
3. Population growth
5. Drought

(Choose the most appropriate option from below)

(A) Only1,2,3&5
(C) Only1,2,4&5
(E) Question not attempted

2.
4,

(B)

(D) All1,2,3,4&5

Less vegetation

Uncontrolled grazing

Only 2, 3,4 & 5

Fr=ifefaa & & o6 ol @ ToRy™ & HoRIeli T & @1 E 7

1. vy

3. wEeEn gfs

5. m@

(Fr=r & & god Sugw faeer )

(A) waw 1,2,395
(C) Haw 1,2,495
(E) erara wed

31 Chokla breed is of -
(A) Cattle
(C) Sheep
(E) Question not attempted
AT T & -
(A) T
C) %=

(E) ogar@ usd

2.
4.

(B)
(D)

(B)
(D)

(B)
(D)

&Y IALT
CIERIERIEECIEL]

Fad 2, 3,495
H‘ﬁl,2,3,435

Buffaloes
Goat

&g
EEXY
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32 Which of the following statement is true regarding the removal of the chairperson or any member

of the State Human Rights Commission?

(A) They can be removed by the Governor of the respective state.

(B) They can be removed by the Chief Minister of respective state.

(C) They can be removed by an order of President.

(D) They can be removed by a resolution passed by the State Legislative Assembly.

(E) Question not attempted

o9 HFEIHT SN & eae] a1 fhdl 9e@ &l geM & g9y § frefaiad & ¥ ®F-—a1 &9 g &7
(A) T= defad o9 & ToOq™ Z1 g2ET o gl 8|
(B) ©= wdfua o9 & geawsll @ geEn o wehd

(C) = Ugufq & oMesT § &A1 9 el 1

(D) w= Tog feremaym g o wwE & g2En S G 2

(E) ofgana usd
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33  Who was the founder of Niranjani Sect?
(A) Dadudayal (B) Laldas
(C) Sant Haridas (D) Sant Mavji
(E) Question not attempted
st g % SeE B 97

(A) <TgEar (B) ™
(C) ¥q zhem (D) & =wEsh
(E) orgafta ued
34  There is complete synthesis of Rajput and Mughal tradition in Rangmahal, Karnamahal, Anupmahal
etc. of
(A) Udaipur (B) Jodhpur
(C) Bikaner (D) Jaisalmer

(E) Question not attempted
% TR, HUHEA, IR e F TSYa-—d YRl B ggfad e ¥

(A) TR (B) wiggR
(C) dmm (D) et
(E) erara e
35 “Moomal’ is the main painting of which painting style?
(A) Kishangarh style (B) Bundi style
(C) Kota style (D) Jaisalmer style

(E) Question not attempted

A e fasear el @& wgE fas 3 7

(A) frermme g (B) 5= §elt
(C) @rer 9l (D) Sreer S
(E) ofgana ued

36  What is the efficiency of a machine if its output power is 500 W and its input power is 600 W?
H9T 1 q&T T B, AfE 38l Meege qreY 500 W el $ge wEw 600 W 7
(A) 0.83 (B) 0.833
(C) 83.3% (D) 120%
(E) Question not attempted / gafa g
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37

38

29

(A)
(B)
©)
(D)
(E)

What is friction?

A force that opposes motion between two surfaces in contact

A force that accelerates motion between two surfaces in contact
A force that pulls objects towards each other

A force that pushes objects away from each other

Question not attempted

Tyur Ry ed ¥ 7

(A)
(B)
©)
(D)
(E)

(A)
(B)
(©)
(D)
(E)

Uk ® T arar & Taat B oy w9 ad
Hudh § ST ATl &1 TGl BT @i B I 9
a1 RIS B TH-GHL DI S Gige I g4

3 S B TH-GEC AT BT Al g
CERIEGICER]

What is the coefficient of friction?

A measure of the roughness of surfaces in contact

A measure of the force of friction between two surfaces
A constant value for all surfaces

A measure of the angle of friction

Question not attempted

YT T TOTH T E 7

(A)
(B)
©)
(D)
(E)

HUdh ac Bl GEdT Bl HIY

3 awl & a9 g | B A
gl dal &1 Rex "M

YT % HIT BT HIY

AR e

If cos(x)z%, what is the value of x in degrees?

af cos(x)== ¥, o folt & x @1 Wt @ e

(A)
©)
(E)

B
30° B) 45°
60° (D) 90°
Question not attempted / AN e
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40

41

42

43

Which trigonometric ratio is always positive in the second quadrant?
(A) Sine (B) Cosine

(C) Tangent (D) Secant

(E) Question not attempted

fidira agater & @M B seua g9 oxEs 2T @ 7

(A) @m= (B) e

(C) 2§z (D) drbe

(E) oIgana ued

Which trigonometric ratio is always positive in the first quadrant?
(A) Sine (B) Cosine

(C) Tangent (D) cot

(E) Question not attempted
vo agafyr § sF-a1 Beiidrr sgua SR e ar & 7

(A) @ (B) T
(C) ez (D) @

(E) ergaiid v

What is the value of tan (270°)?

(A) 1 (B) 0

< -1 (D) Undefined

(E) Question not attempted
tan (270°) &1 9 T B2

GET IT ON
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(A) 1 (B) 0

€) -1 (D)  afrarfie

(E) erafa usd

In what sports activity is the concept of centre of gravity crucial for performance?
(A) Swimming (B) Long jump

(C) High jump (D) Gymnastics

(E) Question not attempted

Tps @ fee afafafy F yas & fog e b Heaqel afar & °

(A) T (B) «d
(C) a1 &% (D) s m=TRE®
(E) organa wed
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44

45

46

GET IT ON
Google Play

Which type of bridge design ensures that the centre of gravity is always within the base of

support?

(A) Arch bridge (B) Suspension bridge

(C) Cable-stayed bridge (D) Beam bridge

(E) Question not attempted

g g % fasl & fu @8 gHfved & w&d gl & 6 ah ofidd & ae 9 o $s EHI TE|
(A) o faw (B) @ farat

(C) wew we fas (D) ¥ &=

(E) &g wss

What safety precautions should be taken when lifting heavy objects to prevent accidents related
to the centre of gravity?

(A)
(B)
©)
(D)
(E)

Bend at the waist while lifting
Keep the object close to the body
Lift with the legs, not the back
Avoid wearing safety gear

Question not attempted

T h% W TSI gHeAIel ¥ g9 % U W ae So™ % AN R e el @1 s W afen ?

(A)
(B)
(©)
(D)
(E)

IO Tld A BHT B S W P IRy
e HT ST % U6 TEAT D18y

A § g+ SoMT Afen 7 f5 de ¥

gL 99 T v a@mfey

HTANRT 9T

What is the SI unit of electric current?

(A) Ampere (B) Ohm
(C) Volt (D) Joule
(E) Question not attempted

R e ) wenE 3 R 7

(A) tfmat (B) &iw
(C) dre (D) ==
(E) argaftd wed
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47 How many millimetres are there in 1 meter?

U G ¥ fopaw felider o £ 7
(A) 1000 (B) 100
(©) 10 (D) 1

(E) Question not attempted / STgaRd us

48  The highest common factor (HCF) of two numbers is also known as:
(A) Least Common Multiple (LCM) (B) Greatest Common Divisor (GCD)
(C) Prime Factorization (D) Decimal Fraction
(E) Question not attempted
2 et & "eaw @nuadd Bl S T Hel Al 8 7

(A) —gTa9 |HEdS (B) wedH 9T HTSh
(C) H&a TuEs fshar (D) zem@a sigr
(E) orania ued

49  What is the formula for electrical power (P) in terms of Voltage (V) and Current (/)?
dieest (V) o amr (1) % dasf & foepa uraw (P) &1 g3 & grm ?
(A) P=V=+I (B) P=VXI
©C P=V-1I (D) P=V+1I
(E) Question not attempted / SFaa s

50 How is electromotive force (EMF) generated in a conductor?
(A) By heating the conductor
(B) By applying a steady current
(C) By moving the conductor through a magnetic field
(D) By connecting it to an insulator
(E) Question not attempted
s § faga aes g@ (EMF) %8 So gar 87
(A) TE® B HAT Hh
(B) Re am @1 &t
(C) dms @ gedd & § et
(D) 38 FawH § weHT
(E) erafa wed
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51

52

53

54

(A)
(B)
©)
(D)
(E)

What is the primary purpose of material estimation in construction projects?

To determine the project timeline

To assess the quality of materials

To calculate the total quantity and cost of materials needed
To ensure compliance with safety regulations

Question not attempted

WW&M%WWWG@WW%?

(A)
(B)
©)
(D)
(E)

(A)
©)
(E)

TIolge & GHAEY T BT

ARl @l TUTET @ Sid B

HEATH THUT DI Pl A SR AT Bl TOET HET
G Al % A Bl GHREd BT
ARG A

Pressure decreases (B) Pressure remains constant

GET IT ON
Google Play

What is the effect of increasing temperature on the pressure of a gas in a closed container?

Pressure increases (D) Pressure decreases and then increases

Question not attempted

gg %ot H g % g™ YT JI9HH S Sl T YHE BT & 7

(A)
©)
(E)

(A)
©
(E)

SERC I (B) @E fem <Eam ¥
39 qEqT & (D) =§ FeHt fB e &

AR wed

2n(R+r) (B) n(R+r)

27t(R—r) (D) TE(R—!‘)
Question not attempted / ARG Fe

What is the area of a circle with radius »?

r Brown Ot g9 @ eEwe 9 B § 7

(A)

(©)
(E)

2nr (B) =r

nd D) m?/2
Question not attempted / AT HeT

5JLP7 - 2123 ] SEPO° 15
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55 What is the total surface area of a cube with side length a?

a WEE B YT A I H1 Fo GAE AAGA T BT & 7
(A) 6a? B) o
(C) 42 (D) 242
(E) Question not attempted / STgaRd we

56 Which lake is situated in Bundi district?

(A) Rajsamand (B) Aanasagar
(C) Navlakha (D) Nakki

(E) Question not attempted

B A 2 e 7 Re ® 7

(A) rorEHg (B) STTET
(C) -awm@r (D) el
(E) emar@ usd

57  “National Mustard Research Centre’ is situated at -
(A) Sewar (B) Deeg
(C) Kumbher (D) Bayana

(E) Question not attempted
T GeEl SEaE ww Rud ¥ -

(A) FaXH (B) S H
(C) = H (D) =& &
(E) emara ved
58 Bisalpur Dam is constructed on the confluence of rivers -
(A) Banas - Khari - Kothari (B) Banas - Dai - Khari
(C) Banas - Khari - Masi (D) Banas - Masi - Kothari

(E) Question not attempted

EISEeRECICREA I e eI T | I

(A) 9 — @ — By (B) w9® — 318 — @i
(C) w9 — @ — = (D) =| — AN — BlOR
(E) organa ws
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59

60

61

(A) Ductility
(C) Conductivity
(E) Question not attempted

GET IT ON
Google Play

What property of metals allows them to be hammered or rolled into thin sheets without breaking?
(B) Brittleness
(D) Hardness

gTq BT BT O, Y T 72 BAS | AT AT HiSHC UH uaal sfe F ge@d @ orHfa war & °

(A) a=ar
(C) drcfhar

(E) ogafa we

(A) Metal

(C) Polymer

(E) Question not attempted

9z /1 ¥ § B9 9enl B &7
(A) &g

(C) iR

(E) srgaia ws

(A) Article 240(1)
(C) Article 243(K)
(E) Question not attempted

forg ergate & ofqifd g GG AN RIS % GATEl H1 SEis HLEwT & 7
(B) smg=s 241(2)
(D) ergese 243(D)

(A) argese 240(1)
(C) eg=a 243(K)
(E) ergafa wed

62 Choose the incorrect statement :

(A) The State Information Commission is a quasi-judicial body.
(B) The Commission has the power of a Civil Court.
(C) The Commission submits the annual report to the Governor.

Rubber is classified as which type of material?
(B) Ceramic
(D) Composite

(B) Hxan
(D) waran

(B) d#rufys
(D) drH

Under which Article the State Election Commission conducts municipal elections?
(B) Article 241(2)
(D) Article 243(D)

(D) The State Chief Information Commissioner is appointed by the Governor on the
recommendation of Committee consisting of Chief Minister, Leader of Opposition, a cabinet

minister to be nominated by Chief Minister.

(E) Question not attempted

A BT BN GAE BT —

(A) T gET @M SFEE e 2|
(B) SR % fafaa ®re &1 e wra §1

(C) omaEnT aoer At Faie TsadTe & W & 2 |

(D) T qE& ol AgH Bl MY TeOda &R g o feet 9 afbfa &) @ s -

g, faua 1 FdT, e B M s & 9ed |

(E) ergara wed
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63  Which of the following is not a base unit in the International System of Units (SI)?
(A) Kilogram (B) Meter
(C) Second (D) Pound
(E) Question not attempted

T ¥ A T ST R ot gR(TaaTE) 9 ame T W 3

(A) fraram (B) X
(C) &= (D) uNs
(E) orana wed

64 What is the value of x in 3x + 7 =227
3x+7=22F x %1 HF T E?
(A) 5 (B) 6
<€) 7 (D) 8
(E) Question not attempted / TR UsT

65 Solve for x in the equation 5x + 8 = 3x — 4.
5x+8=3x—4 % x & 99 3G DT
(A) x=-6 B) x=-2
C€) x=2 D) x=6
(E) Question not attempted / did 9g

66  Which ruler of Udaipur got the Rajsamand lake built?
(A) Rana Sanga (B) Rana Rajsingh
(C) Rana Karan Singh (D) Rana Pratap Singh
(E) Question not attempted
TeTEdE e @1 Pt IgaqR % fee smEw g wearr wn ?

(A) om & (B) mom wifdE
(C) T HuikE (D) o yamRiE
(E) orgara wed

67  “Nathra ki Pal’ mining area is situated in -
(A) Hanumangarh (B) Dungarpur
(C) Udaipur (D) Ganganagar

(E) Question not attempted
YW B U @ & Rad ® -

(A) BFAFTE A (B) gy &
(C) ueEge ¥ (D) R
(E) erafa wed
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68 What is the angle of friction?

(A) The angle at which an object starts sliding on a surface
(B) The angle at which an object is lifted off the ground
(C) The angle at which an object moves with constant velocity on a surface
(D) The angle at which an object is pulled towards the surface
(E) Question not attempted
U7 BT BT HTE 7
(A) ¥ @1 T8 WX BE g q@ B q6 AT JE Bl &
(B) @& %1 f W 1R 9w 9 ¥ e @i @
(C) =% &Iv {8 W &3 a%g Rex 971 & 9@ W g9 @l §
(D) 9% @ 58 WX BIE o a @I oK e @ @
(E) orgafa 9ed
69 What is the purpose of reducing friction in machinery?
(A) To increase wear and tear (B) To decrease efficiency
(C) To increase energy consumption (D) To improve performance and efficiency
(E) Question not attempted
A & guur B B B BT FAT IIA9T Bl B 7
(A) TorEma & ST (B) =&rar &7 =@M
(C) ol @ud @l SeM (D) v & Ferar S
(E) organa ued
70  What is dynamic friction?
(A) Friction between surfaces in motion  (B) Friction between stationary surfaces
(C) Friction between non-rolling surfaces (D) Friction between lubricated surfaces
(E) Question not attempted
i T T ¥ 7
(A) TR e F dr @ ad (B) Rex gt ¥ dra &1 g
(C) =1 g8+ aTeil |qEl & &g &1 gu (D) wed gdel & &g B gy
(E) organa ued
71 What is the process by which heat is transferred through a material by direct contact of particles?
(A) Conduction (B) Convection
(C) Radiation (D) Sublimation
(E) Question not attempted
e HF-WT GHAT & TTa9 SO &1 &6 Y T § A6 Rl Gl ¥ I el @ ?
(A) g (B) o=
(C) fafeem (D) SedumEE
(E) argaia wsd
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72

73

74

A cylindrical tank has a radius of 2 meters and a height of 5 meters. If its density is 10 kg/m3,

what is its weight?

UH AR Sb Bl Boar 2 He X a5 Hiel B o 38 g9 10 kg/m? &, a1 381 \I

g ?

(A)
©)
(E)

(A)
(B)
©)
(D)
(E)

1000 N (B) 6300 N
5000 N (D) 10000 N
Question not attempted / AT 4T

In a uniform object, where is the centre of gravity located?

At the geometric centre

At the bottom of the object

At the top of the object

It varies depending on the object's shape

Question not attempted

Th TN 9% H, Tocd by BEl RYd el § 7

(A)
(B)
©)
(D)
(E)

(A)
(B)
©)
(D)
(E)

IR bw o
I & g9 A"
qE] & 9N W
TE & HHT 9T FTHT wLa &

HTART WS

How can the centre of gravity of irregularly shaped objects be determined experimentally?

By using mathematical formulas only

By balancing the object on a pivot point

By measuring the object's dimensions and calculating
By estimating based on visual inspection

Question not attempted

sifrafira st @ aEgstt B Tow hE wElie w9 § Hu Fraifa fear s gwar ¥ 7

(A)
(B)
©)
(D)
(E)

e TG Gl B SIEMT B

a5g ® frae fig T ggfva =

qEJ F AN B HIYHT TS T B
&I B T@A H G SFAA THT
HIART U
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75

76

77

78

Which of the following cities is not located on National Highway No. 15?

(A) Sri Ganganagar (B)
(C) Jaisalmer (D)
(E) Question not attempted

Bikaner

Karauli

Frefafag st & SW—ar U Tt e 15 W sraied @ & 7

(A) o T (B)
(C) wEant (D)
(E) orgaia wed

The largest breeding area of birds in Asia is -
(A) National Desert Park (B)
(C) Ranthambore National Park (D)

(E) Question not attempted
TRET # il w1 dEE 981 US &5 & —

CIEARES
HUE!

Keoladeo National Park

Nahargarh Sanctuary

HAART UL A
AECTE STHATY

GET IT ON
Google Play

What is the process of subjecting metals to high temperatures to change their properties called?

(A) T 7% wEH (B)
(C) TR U™ IaM (D)
(E) orgafta v

(A) Mechanical treatment (B)
(C) Chemical treatment (D)

(E) Question not attempted

Thermal treatment

Heat treatment

fordl u1g & U1 # gea & U o vem AW % o7dE w6 uhear w® wEan €7

aie gieHe
e dreHe

Which property of metals measures their ability to absorb energy before fracturing?

(A) ditws grede (B)
(C) amat® dedz (D)
(E) oman@ usd

(A) Hardness (B)
(C) Ductility D)

(E) Question not attempted

Elasticity
Toughness

g BT BT O hea T § UEA Sl bl STNTNG HIA AN STUA SHAT Bl HGAT & 7

(A) wera (B)
(C) dwgar (D)
(E) organia wed
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79  Which heat treatment process involves heating metal to a high temperature and then slowly
cooling it to relieve internal stresses?
(A) Annealing (B) Quenching
(C) Tempering (D) Normalizing
(E) Question not attempted
B9l ST IR UThaT H, U1 B o A9 U TH Bk SAidfid ad gad B & fog i e
fopar T %7
(A) eIt (B) wifaw
(C) Zufar (D) g
(E) organa wed
80  Where was the office of ‘Rajasthan Seva Sangh’ established by Vijay Singh Pathik in 1919 A.D.?
(A) Pali (B) Kota
(C) Mewar (D) Ajmer
(E) Question not attempted
1919 §. 7 foora Rie ofs a0 wnfia Uk &A1 @9 @ FEfad wel faq o’
(A) Tl (B) @1
(C) #Hers (D) &Y
(E) ogana ued
81  Which state ruler signed the merger letter of integration of Rajasthan saying, “I am signing my
death warrant™?
(A) Kota (B) Jaipur
(C) Jodhpur (D) Banswara

(E) Question not attempted

TR T & faeraus o forg Toa & 9mes 3 98 #ed gu swe feu 5, “F amw 3y A W

BEAE BT W E 7

(A) @re (B) wHEgY
(C) ey (D) wrHareT
(E) orafid 9ed
82  Where is the memorial of Kalibai Bhil built?
(A) Sihot (B) Khachrod
(C) Rastapal (D) Pipla Ganv

(E) Question not attempted
FAETE I & T BEl a1 & 7

(A) Toere (B) wrEE
(C) EmMT (D) diger g
(E) orgaita 9ed
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83 Protected forest areas for animal and bird watching are called -

84

(Choose the most appropriate option from below)

(A) Sanctuary (B) National Park

(C) Park (D) Habitat

(E) Question not attempted

gg]-val foe &g € o9 &9 wEa ¢ - (Fra o 9 99 Sugad faeed g)

(A) e (B) wsia sEm™
(€) =™ (D) &mEa™
(E) orgaRa wsd

TIEHA BHIIE W e oA ? (e & ¥ ge9 Iugaa faswew 9+)
(A) 1925 B) 1926

C) 1927 (D) 1928

(E) Question not attempted / saftd ¥s7

85 What is the formula to calculate power?

(A) Power = Work x Time (B) Power = Force x Distance
(C) Power = Work + Time (D) Power = Force + Time
(E) Question not attempted

qTfeRT T G T E?

(A) ot = & x §99 (B) ot = @ x g0

(C) of =a"d + g9 (D) o = a& ~ T4

(E) orgafta we

86  Which of the following statements is true about work?

(A) Work is done only when there is a change in the motion of an object.
(B) Work is a scalar quantity.

(C) Work is calculated by multiplying force by distance travelled.

(D) Work is always zero.

(E) Question not attempted

HE % gL H T H A9 U T & 7

(A) ford agg & g i a9 o & FR e ¥

(B) & aifgsr A Rt B

(C) 3@ iR a9 T & THSA & HE &I AT BT 2

(D) @/ THI T FT )

(E) argaia ws
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87 What is Indicated Horse Power (IHP)?
(A) The power developed by the engine's cylinders
(B) The power available at the engine's output shaft
(C) The power measured at the engine's intake
(D) The power measured at the engine's exhaust
(E) Question not attempted
fshes &Y qrET w1 T 7
(A) 399 % fafeist & faefa e Al arae
(B) 9 % oMSeye 9w # Iudey M ATl 9}
(C) %M & 372% & "Td 9 Al qraT
(D) o9 % Tl ¥ "l S el qra]

(E) orgaia ued
88 How is brake horsepower (BHP) different from indicated horsepower (IHP)?
(A) BHP is always greater than IHP. (B) BHP is always less than THP.
(C) BHP is equal to IHP. (D) BHP and IHP are unrelated terms.

(E) Question not attempted

3% eyt (BHP) @i $fees &id e (IHP) & «ar siaqe &7

(A) BHP, IHP & &dem 921 2l 2| (B) BHP, IHP & =891 83 2l 2
(C) BHP, IHP % X &l 21 (D) BHP &t IHP srdfag g &1
(E) orgafea ued

89 To whom Munshi Devi Prasad has given the title ‘Abul Fazal of Rajputana’?
(A) Muhnot Nainsi (B) Dayal Das
(C) Nihal Chand (D) Suryamal Mishran

(E) Question not attempted
Holt <1 v 7 68 TSI &1 1A %ol el & ¢

(A) vl SorEr (B) 9@ ™
(C) frem d@ (D) wdwea fagor ()
(E) ergara wed
90 Who was the Political Agent of princely state of Jaipur at the time of the Revolt of 18577
(A) Major Burton (B) Morission
(C) Eden (D) 1.D. Hall

(E) Question not attempted

1857 % fomle & &9d <AYX Ramd & Uifdieha T HiA o 7

(A) o & (B) HiEs
(C) g7 (D) W2 T
(E) ergara ved
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91 Which class of lever has the load between the fulecrum and the effort?

(A) First-class lever (B) Second-class lever
(C) Third-class lever (D) Fourth-class lever
(E) Question not attempted

fore FomE & WET H 9N, HAWg o Y9 % 9" war &7

(A) W& T A (B) Fdhs FmE et
(C) 92 FaE @A (D) e &E W
(E) ergara wed

92  Which of the following is an example of a third-class lever?
(A) Crowbar (B) Nutcracker
(C) Fishing rod (D) Wheelbarrow

(E) Question not attempted
1 & § BT 9 T AET B S &

(A) AR (B) ehat
(C) fsferm <= (D) =
(E) orgaRa ws

93  Which material is typically a good conductor of electricity?
(A) Rubber (B) Glass
(C) Copper (D) Wood

(E) Question not attempted
B a%] Tt 'Y § fUga @ gawd sl g

(A) e B)
(C) (D) el
(E) oraia ved

94  Where is the main worship place of Devnarayan Ji located?
(A) Tilwara (Barmer) (B) Aasind (Bhilwara)
(C) Jayal (Nagaur) (D) Gagron (Jhalawar)
(E) Question not attempted
T S T e [SIRAT HE Red § 7
(A) fowarsT (S1997) (B) amie (ierarsn)
(C) vmEw ([FR) (D) TR (sEETS)
(E) orgafta 9
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95 Raniji ki Bawdi, Chaurasi Khambo ki Chhatri and Nawal Sagar lake are famous tourist places

of which district of Rajasthan?

(A) Ajmer (B) Bundi
(C) Dungarpur (D) Jaipur
(E) Question not attempted

THET @l GEst, TE! @H @ Badl 3T 990 9N ®h o™ & by e & Uig uded e €7

(A) R (B) &
(C) T (D) wEYL
(E) orgara ued

96 If the ratio of boys to girls in a class is 4:5 and there are 36 boys, how many girls are there?

Tfe frHl e o @sch 3N WSfhdl &1 oIJud 4:5 2 X @ &l T&A1 36 &, A ASiBal &I T@dT F1
B 7

(A) 40 (B) 45

(€) 50 (D) 54

(E) Question not attempted / ST e

97 If a bag contains 80 red marbles and 20 blue marbles, what is the ratio of red marbles to blue

marbles?

e uk I § 80 WA Merar wd 20 Hell Aqdr €, O A TG A qAAl B ST FT B 7
(A) 41 (BTl

C) 1:4 (D) 1:3

(E) Question not attempted / =ftd 97

98 In a right-angled triangle, if the lengths of the two shorter sides are 3 and 4 units, what is the

length of the hypotenuse?

(A) 5 units (B) 7 units
(C) 9 units (D) 12 units
(E) Question not attempted

e Brget A, aft @ B gonet @ AW 3 oK 4 R ®, o Hv @& wW wr B

(A) 57w (B) 7 z#R
©€) 9 R (D) 12 g
(E) ogania e
99  Whose composition is ‘Rannmal Chhand’?
(A) Shreedhar Vyas (B) Prithviraj Rathod
(C) Manchha Ram (D) Ishwardas

(E) Question not attempted
ma Be fRger wa &7

(A) ey = (B) gt Tets
(C) #Brm™ (D) syeREE
(E) organa ued
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100 Agni dance is a famous dance of which sect of Rajasthan?

(A) Jasnathi Sect (B) Naval Sect
(C) Niranjani Sect (D) Alakhiya Sect
(E) Question not attempted

AT oI TSI & e wwer & g T & 7

(A) wETEl gEE (B) a@ §HEE
(C) fier o9 (D) or@Rgar TE™
(E) &gaia e

101 What is the area of a square with a side length of 10 cm?
(A) 20 cm? (B) 50 cm?
(C) 100 ecm? (D) 120 cm?

(E) Question not attempted

TG T H A6 g a9 @l @9 10 9 ¥

(A) 20 =t T+ (B) 50 =t &+
(C) 100 =t & (D) 120 =t &=
(E) eomafa gs7

102 What is the percentage increase if a value goes from 40 to 60?

TR B G 40 § 60 & Sl B, O SHal Uided gha §a B |
(A) 25% B)._ 35%

©) 50% D) 60%

(E) Question not attempted / IFad 99T

103 If the length of a rectangle is tripled and the width is halved, how does the area change?

(A) Doubled (B) One and half
(C) Halved (D) Quadrupled
(E) Question not attempted

gy fopddl emaa @1 @ars forge ofix diss omelt & T ¥, O IHS @=wd H @ ofay S ?

(A) AT & S (B) g T & W
(C) amam & S (D) @R[ & S
(E) ergafyd usd

104 Simplify 3x —2x% +5x —3x.

3x% = 2x% +5x—3x @ TG BT

(A) x*+2x (B) x?+2x+2

€ x%-2x (D) x%+3x

(E) Question not attempted / @ Ws7
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105 Solve for x in the equation 2(x+3)=8x-6

7F Tt 2(x+3)=8x—6 ¥ x & AN T HIY

(A) x=-5 B) x=-3
€) x=2 (D) x=5
(E) Question not attempted / STgaRd us

106 What is the reciprocal of the sine function?
(A) Secant (B) Cosecant
(C) Cotangent (D) Cosine
(E) Question not attempted
ST e § ogoh T & 7

(A) drhe (B) @b
(C) @isie (D) @R
(E) emafa wed

107 The weight of an object on the surface of Mars is approximately 38% of its weight on Earth.
If an object weighs 100 N on Earth, what is its weight on Mars?
e W& WX TRl aRg @ AR g WX S WX 1 @ 38% 1 AR 3§ awg @ R geAr 7 100N
%, @ T IE X IHEHT W fhar g e
(A) 38N (B) 62 N
(C) 100N (D) 238 N
(E) Question not attempted / iFaftd wed

108 The density of a substance is 5 g/cm3. What is its specific gravity?
forel ag @ '@ 5 g/em’ ®| Suam fafire TeE @@r B ?
(A) 0.2 (B) 1
< 2 (D) 5
(E) Question not attempted / AT s

109 Which of the following statements about specific gravity is true?
(A) It is always less than 1.
(B) It is always greater than 1.
(C) It is dimensionless.
(D) It is measured in kilograms per cubic meter (kg/m?3).
(E) Question not attempted
e ¥ | dA-a e it T & A el g ?
(A) =& &8 1 & &9 Bl 2
(B) @® ®Hem 1 ¥ §37 & ¥
(C) =E mEmEN %)
(D) =9 fparum wfer == @ § |mr S

(E) ergaia wed
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110 The volume of an L-section beam is 2000 cm3. If its density is 8000 kg/m3, what is its mass?

TA-SFE 99 $1 emaad 2000 cm? ¥ afy 3@ g9 8000 kg/m3 ¥, A €A FHE FT € °

(A) 1.6 kg (B) 16 kg
(C) 1600 kg (D) 16000 kg
(E) Question not attempted / Saia s
111 Which scale of temperature is commonly used in scientific experiments and calculations?
(A) Celsius (B) Fahrenheit
(C) Kelvin (D) Rankine
(E) Question not attempted
e v ok oS § o AR wX fRE Qo Y @ swar fRar s # 7
(A) dfeaaa (B) %HEREe
(C) e (D) e
(E) organa ws
112 What is the boiling point of water in Fahrenheit?
HARIEE § U 1 FYAIH 1§ ¢
(A) O°F (B) 32°F
(C) 100°F (D) 212°F
(E) Question not attempted / SART UsT
113  What type of heat transfer is involved in the formation of sea and land breezes?
(A) Conduction (B) Convection
(C) Radiation (D) Conduction and Radiation
(E) Question not attempted
7 AR WA gER & P F f6E geR @l S AR s g ?
(A) = (B) waew
(C) faferzo (D) = o fafe
(E) orgaia usd
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114 In the stress-strain curve, the point, where the material returns to its original shape after removing

the external force is known as :

(A) Yield point (B) Elastic limit
(C) Ultimate strength (D) Fracture point
(E) Question not attempted

wiaa—fagpfa @ o, a8 fig, &l 9l & SUx @ 9@ 99 B T2 U, 98 U9 81U A SMeR § a1ad
1 ST 8, Heawd §

(A) Tuwe fag (B) weryg g
(C) = wmed (D) o fig
(E) oTgana usd

115 How is the modulus of elasticity related to stress and strain?

(A) It is the ratio of stress to strain

(B) It is the product of stress and strain

(C) It is the difference between stress and strain
(D) It is the sum of stress and strain

(E) Question not attempted

yfied ot fagfs & yamedr we & @ gdy ¥ 7
(A) =& igew e fpfa &1 a2 @

(B) g% wfuew ot fasfa & sae &ar @

(C) 37 widew & faqepfa &1 ofax & &

(D) & wiw o fagphy @ am dr ¥

(E) ergara ved

116 What is the formula for Mechanical Advantage (MA) of a lever?
(A) Load / Effort (B) Effort / Load
(C) Load x Effort (D) Load + Effort

(E) Question not attempted
et % aife @ (MA) &1 T3 o1 & 7

(A) W/ e (B) ma® / WX
(C) 9 x ™ (D) R+ |
(E) argaia wsd
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117 Which of the following civilization of India can be considered as the mother of Copper Age

Civilization?

(A) Ahar

(C) Kalibanga

(E) Question not attempted

o & @ fopg wvaan & 9T @B AEGIE RIS B STl AT ST Gl @ °

(B) Gilund
(D) Ganeshwar

(A) oS (B) fre
(C) BrerETT (D) ToigER
(E) omania usd
118 Match the Ornament in Column I with Women wear at in Column II.
Column I Column 11
(Ornament) (Women wear at)
1.  Bor (Borla) a.  Neck
2. Thussi b.  Hand
3. Pipalpatra ¢. Head
4.  Nogri d. Ear
Frem 1 & smywer & &em 11 & Afeend vaadl € & s st
Hiem 1 Hiew 11
(aregEn) (afgmd e ¥)
1. 9 (I a.  TET
2. gEN b. T
3. dgees c. M
4. ArTd d. @™
(A) l-c, 2-d, 3-b, 4-a (B) 1-b, 2-c, 3-a, 4-d
(C) Il-c, 2-a, 3-d, 4-b (D) 1-b, 2-a, 3-d, 4-¢
(E) Question not attempted / safta Wes
119 Where did Farrukhsiyar appoint Sawai Jai Singh as the governor in 1713 A.D.?
(A) Orissa (B) Malwa
(C) Deccan (D) Kamrup
(E) Question not attempted
woERET 7 1713 3. ¥ ward st & #ef & geer g e ar?
(A) S (B) Hetern
(C) T (D) omEy
(E) orana ed
120 Where is the inscription of Shahjahani Mosque of 1637 A.D. located in Rajasthan?
(A) Alwar (B) Jaipur
(C) Ajmer (D) Nagaur

(E) Question not attempted

1637 3. @1 SMESTEM! ARSE @l fYeE o™ & Hal Rud & 7

(A) EaT
(C) o1y
(E) ergafa wed

5JLP7 - 2123 ] SEPO°

31

(B) @YY
(D) AR

[ Contd...



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

SPACE FOR ROUGH WORK | 1% &/ % fow &=

TTY 9@ H &l qiqal & — el Fid ST fEdi qid, q31er qHiT oY qiien we i d gd qirerdt
ITT UFE BT GIAT Fhoar diers d GraT, ghere @ G gtd @t e T8 &Y | diee g
I TA% B {7 FiT @l o191 I 497 &Y, 1&g Fhd & 9 Tid & & oisT d q18 & aragrir
yd® ST HT GEmelt @ G | gt fZdra gfa st e ary @ araT
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